SIM.
5/8”" EXTERIOR GRADE FRTW 3 7
E PLYWOOD SHEATHING ———— 7
PRE—ENGINEERED 7 /oomzmm ROOF FRAMING
LT. GA. STEEL TRUSSES 7D BEYOND, SEE DETAIL 2/S3.4
@ 24” 0.C. (SEE ARCH'L —— 7
FOR TRUSS PROFILES) . 7
5/8" EXTERIOR GRADE FRTW 1/4” PL. FOR BALLOON TIE DOWN, 9 7
PLYWOOD SHEATHING ! WELDED TO STUB COL. BEYOND , \\\%\\\ F
PRE—ENGINEERED / HSS3x3x1/4 STUB COL. WELDED 7 7
LT. GA. STEEL TRUSSES TO TOP OF BLDG COL. BEYOND P ,——5/8” EXTERIOR GRADE FRTW
@ 24” 0O.C. Amm_m >_NOI“_||/ Aw_m_m PLAN FOR _|OO>._._OZV \\\ \\\ I PLYWOOD SHEATHING
FOR TRUSS PROFILES) ghT- 0. COLUMN \\mwv\\\
e T L3x3x1/4 CONT. ANGLE PRE—ENGINEERED
x3x : 7 7 v LT. GA. STEEL TRUSSES
. , WELDED TO TOPS OF —— | WATERPROGFING DETALS. @ 24" 0.C. (SEE ARCH'L
11/2" 22 GA. GALV. 11/2" 22 GA. GALV. STEEL JOISTS, TYP. iy . @ FOR TRUSS PROFILES)
METAL ROOF DECK—— METAL ROOF DECK—— 7
—_ ||||||||||||||||||||||||||||||||||||||||| ;W "WH (D) (D) \
s -— _—— e - - - - - -
1.0. STEEL . .~ . @@ O T.0. STEEL BEAM 5/8" GYPSUM BOARD @ BOT. CHORD 7 /
EL 16—7 1/27 . EL. 165 | | OF TRUSS, %.|/ _ /
|
DECK! , |
ALL TRUSS CONNECTIONS AND 2 ] T //
BRG. HOLDDOWNS TO BE PROVIDED PROVIDE DEEP TRUSS — D. — — + Z T.0. STEEL BEAM
BY TRUSS DESIGNER SEAT BY TRUSS =5 — s A N e a3
DESIGNER L. L ALL TRUSS CONNECTIONS AND L N
_ : (0, /% 5%, HOLDDOWNS TO BE PROVIDED ] N ]
i B ROOF BEAM 0 Q»@@\@\% BY TRUSS DESIGNER — HH———=—— STEEL ROOF BEAM
KCS—SERIES ROOF JOIST (SEE PLAN) MMV e ROOF BEAM O === Al [ See pLan
KCS—SERIES JOIST (SEE PLAN) # w%m %ﬁwémcm%%mo — WHWDE: |
- | L n\
6”’x1 5/8" x 18 GA METAL 18 GA. CONT. FLAT ]
” |\‘
) mmonﬁ_oz >|_| _NOO_H |_|_N>ZW_|_|_OZ 9 mmo.:oz >|_| _NOO_H |_|_N>ZW_|_|_OZ STUD KICKER®@ 48" OC, N STRAP mm_oo_zo
S3.3 SCALE: 3/4"=1"-0" FASTEN TO TRUSS BOT. ITHIN 12" OF TRACK |
. . //MMMWW\\ SCALE: 3/4"=1'-0" CHORD ABOVE REF. ARCH'L FOR
6” x 18 GA CONT. BRIDGING EXTERIOR FINISHES
y EA. SIDE OF KICKER L @
‘U Aw 1/2” EXT. GRADE PLYWOOD 2 6” CONT. DEFLECTION
70 TRUSS PEAK SEE PLAN SEE PLAN SHEATHING BOTH SIDES 16 GA. CLIP ANGLE CONNECTED & TRACK (W/ 2" LEG)
_ ﬁmmm ARCH'L) A= T 7 \ , W/ (4) #12—14 SCREWS INTO = FASTENED TO STEEL
\% N 1/2"x5"x1’—12” CAP PL. 6” METAL STUD 1/2" PL. @ TOP STUD KICKER AND INTO o BEAM W/ (2) 5/32”
_ % m@o or.‘m\, + EE DETAIL| 9/S-3.3) _ FRAMING @ 16" O.C. 1 OF STuB COL. STRUCTURAL STEEL (TYPICAL) BRACE EL. —igr PAF's @ 16” 0.C
_ - . Jﬁ b _ _ 7.0. PLATE il HSS3x3x1/4 STUB COL. WELDED 12'-6" 6"—18 GA. METAL STUDS © 16" 0.C
! T | - . == TO TOP OF ROOF BEAM BEYOND ) _ : o
) EL. SEE ARCHL {! (SEE PLAN FOR LOCATION) i i :
| | | 1/4” PL. FOR BALLOON TIE DOWN, y
_ _ _ WELDED TO SIDE OF STUB COL. | T.0. STUB COL. 12 GA. CONT. BENT PLATE W/
_ _ - _ 12 GA. CONT. ANGLE {lm EL. 18'-3" AFF (4) #12—14 SCREWS TO EA STUD _
_ _ 70 ¢ COL. CA _ CONNECTED W/ (2) #12 TEK W $“ 6"-18 GA. CONT. TRACK
_ _ FL24-6'F \ _ SCREWS TO EA. 'STUD AND f%ﬂ_ﬂ FASTEN TO DECK W/ (2)
N _ TO ROOF DECK @ 6" 0.C. ol #10 SCREWS @ 8" 0.C.
~ n
\ il >
_ _ P 376 _ KCS—SERIES Lo_mq) 1 1/2” 22 GA. (TYPE B) m N L3x3x1 /4 CONT. ANGLE 3 SECTION AT ROOF EAVE
! _ _ ] \ CALV. METAL ROOF DECK I FIELD WELDED TO T.O. JOIST S3.3 | SCALE: 3/47=1—0"
| L4x4x1/4 x | B | g | 3717
! 6” LONG, TYP ! q ! W W i , N
| | | — I Ny T.O. STEEL BEAM
| T.0. BRACE Yy HSsoxexi/4 | 1N EL 16°-5" AFF
| ELEV = 18-8" AFF | o | o N
| | _ _ = 5/8" GYPSUM BOARD——= A== i R
T.0. STEEL : |— | T0 US. OF ROOF DECK I :
_ ELEV = 16'=7 1/2" AFF ﬁm“\mmﬁmr:mmks\\“w%m R N/ \\V\ il S| [ I
| 3/Bha0" 0" CONN. = | | ——_ | “\——ROOF BEAM W/ 3/8" STIFF.
- . PL. BOTH SIDES @ 4'-0”
! PLATE TO BEAM FLANGE, TYP. o | —PROVIDE SHOP WELDED ! Lax4x1/4 CONT. @ 18 GA. CONT. FLAT 0.C. AT PARAPET
NS JOIST PANEL POINT
| | | [ 3/8"x10"x1'~0" CONN. | STRAP %_co_zo|/4 6" CONT. DEFLECTION
_ _ _ PLATE TO SIDE OF COL, TYP. _ 6”x1 m\mz x 18 GA METAL WITHIN 12" OF TRACK 7 TRACK A<<\ 5” _l_mOv
T.0. STEEL .
_ : : STUD KICKER @ 48" OC, FASTENED TO STEEL
ELEV = 115" AFF [T STEEL BEAM . : | _ FASTEN TO BOT. OF JOIST Q BEAM W/ (2) 5/32”
| | | | Mt
| HSS5x5x3,/8 DIAG. LATERAL | ﬁ | BRACING MEMBER, TYP. 16 GA. CLIP ANGLE CONNECTED
|| BRACING MEMBER, TYP. ! ! ! W/ (4) #12—14 SCREWS INTO | BCX AS REQUIRED, PROVIDE
| | | | STUD KICKER AND INTO CONT. u (2) L2x2x1/4, WELDED TO CLIP ANGLE
! ! ! ! BENT PLATE @ JOIST (SEE PLAN FOR LOCATIONS)
_ | | HSS COLUMN
HSS COLUMN HSS COLUMN 12 GA. CONT. BENT PLATE : 6"—18 GA. METAL STUDS
HSS COLUMN SHOP WELDED | W/ (4) #12-14 SCREWS 1 @ 16” 0.C.
3/8"x10"x1"—0 TO EA STUD
’ CONN. PLATE TO
SIDE OF COL.

(SEE ARCH'L)

DOOR %mz_zo\

_71______ —

TOP OF CONC. PIER ﬁ ||||||||||||||||||||||||||||||||||||||||

EL. —0'-8" i

T
L
HSS COLUMN —t—t—¢
cw L 1 CONNECTION
8 o | T.0. BEAM
_ EL 18'-8"
HSS 5x5—| |
BEAM _
L4x4 _
CONNECTION | —
o
_/7_

/ 8\ SECTION

S—33 SCALE: NTS

7\ ELEVATION

S—-3.3

SCALE: NTS

6”"—18 GA.
CONT. TRACK

W/ (4) 5/32°8 PAF
EL. SEE 7/S3.3

HSS COLUMN
/9 DETAIL
S—3.3 SCALE: NTS

~A\ T.0. STEEL VARIES

4+ \ SECTION AT ROOF PARAPET

@ SCALE: 3/4"=1'—0"

— PERIMETER
ROOF BEAM

BOTH SIDES |1/4

.mw._..o. STEEL EL.

SEE PLAN R N

PERIMETER — TYP, [1/4
ROOF BEAM

1

|

|

|

|

|

|

|

|

|

—

|

|

|

|

|

|

|

|

|

|

|

|

|
u
I
i

I

o o

' (SEE PLAN) Lﬁ 71
|

PROVIDE STANDARD BOLTED

PROVIDE SHOP WELDED
3/8"x10"x1°—=0" CONN.
PLATE TO BEAM FLANGE

PROVIDE STANDARD BOLTED
BEAM CONNECTION TO SHOP
WELDED THRU—-PLATE (TYP.)

BEAM CONNECTION TO SHOP

NESTED IN AND FASTENED
TO TOP OF WALL TRACK

HSS COLUMN

SHOP WELDED 3/8"x10"x1’—0"

HSS COLUMN HSS COLUMN

SHOP WELDED 3/8"x10"x1'—0"
CONN. PLATE TO SIDE OF COL.

HSS5x5x3/8 DIAG. LATERAL
BRACING MEMBER (TYPICAL)

CONN. PLATE TO SIDE OF COL.

SHOP WELDED COL. BASE PLATE
with 3/4”¢ ANCHOR RODS
(SEE S—3.1 FOR TYP. DETAILS)

A\ TOP OF CONC. PIER
\V EL. —0'-8"

HSS5x5x3/8 DIAG. LATERAL

BRACING MEMBER SHOP WELDED COL. BASE PLATE
T.0. CONCRETE with 3/4”¢ ANCHOR RODS
FOUND. WALL (SEE S—3.1 FOR TYP. DETAILS)

T.0. CONCRETE
FOUND. WALL

PROVIDE SHOP WELDED
3/8"x10"x3’—0" CONN.
PLATE TO BEAM FLANGE

HSS COLUMN

VAN 77 A e S

A~ TOP OF CONC. PIER !
~ EL. —0'—8"

/5 ELEVATION - (6 ) ELEVATION

S_33 SCALE: NTS o S S_33 SCALE: NTS

No part thereof shall be copied, disclosed to others, or used in connection with any work or project, other than the specified project for which they have been prepared and developed, without the express knowledge and written consent of BKA Architects, Inc.

Inc.

Copyright (© 2006 by BKA Architects, Inc. The architectural plans, drawings, designs, specifications and other arrangements on this sheet are and shall remain the property of BKA Architects,

BKA Architects, Inc.

Architecture + Interiors

142 Crescent Street
Brockton, MA 02302

tel : 5608.583.5603
fax : 5§608.584.2914

e—maiil : bkaecbkaarchs.com

CONSULTANT:

SEAL:

CVS

oharmac

NEW

STORE NUMBER: 329

NORTHGATE PLAZA
91 AUBURN STREET
PORTLAND, MAINE

DEVELOPER:

A & D REALTY, LLC
5 MILITIA DRIVE
LEXINGTON, MA 02421

REVISIONS:
CHECKED BY: TG
ENGINEERED BY: MVC
DRAWING BY: AG
DATE: 08/31,/2009
JOB NUMBER: 209017
TITLE:

STRUCTURAL WALL
SECTIONS AND
BRACING ELEVATIONS

SHEET NUMBER:

S5— 3.9

COMMENTS:
ISSUED FOR CONSTRUCTION




